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Subtraction

Instructions: Solve the subtraction problems below.

M2PS2.1

Louis scores 1295 points in a game. He then
loses 523 points. How many points does he
have now?

Gina has 1680mL of soda. If she drinks
725mL, how much soda does she have left?

There are 985 cookies in the teacher’s staff
room. If 453 cookies are eaten, how many
cookies are left?

It is 1618 metres from Alan’s house to the
beach. If Alan has already walked 920
metres, how much further is it until he arrives
at the beach?

A truck driver has to travel 862km. If he stops
for a break after 216km, how many kilometres
is left on his journey?
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There are 2212 males and 1789 females at a
concert. How many more males are there
than females?

A parking lot has 1520 spaces. If there are
already 815 cars parked, how many empty
spaces are left?

A sushi restaurant has 9500 grams of rice at
the beginning of the day. If 4238 grams of rice
Is needed during the day, how much rice will
be left?

If John has 5,614 stickers and Mary has 9,670
stickers, how many more stickers does John
need to have the same amount as Mary?

There are 4,687 books in a library. On
Monday, 213 books were borrowed. How
many books will be left in the library if no
books have been returned yet and another
526 books are borrowed?

A total of 6,992 people visited the museum
this week. If 575 less people go to the
museum every week, how many people will
visit the museum two weeks from now?
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Subtraction

Instructions: Solve the subtraction problems below.

score?

A ship is carrying 3,521 oranges. If 410
oranges become rotten, how many oranges
can still be eaten?

Jeffrey has $1670 in savings. If he buys a toy

Simon has 574 points in an arcade game. The
high score is 1795 points. How many more
points does Simon need to reach the high

for $315, how much money will he have left?

Last weekend, Tom’s restaurant had 3,019
customers. If 430 less people come this
weekend, how many customers will the
restaurant serve?

A store has 1,615 metres of ribbon. If it sells
460 metres, how much ribbon will it have left?
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A water tank holds 1850L of water. If the rain
fills it by 436L, how much water can the tank
still hold?

The Smith family needs to drive 1200km on
their holiday. If they have already driven
913km, how much further must they drive?

Kit and his friends have 1620 chocolate bars.
Together, they eat 126 of them. How many
bars do they have left?

Bethany has spent 1268 minutes playing with
her dolls and 725 minutes watching TV. How
much more time has she spent with her dolls?

Mrs Jones wins $5500 from a contest. She
spends $490 on new clothes and $58 on a
haircut. How much money does she have
left?

Pam is reading a book with 1,419 pages. If
she read 599 pages last week and 435 pages
the week before, how many pages does she
have left to read?
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